STNY
v e/ 4

3 & 3=
gMEa—F K49466
i’ E 0 SWM1610
LS i SWM1610-11

« BB ENDELE, IRl mE R BN 2 ER<IZELY,
ﬁfﬂnﬂnnw—nm-.li FEHYMRTEDADEBmMHHIET,

= tIHI 7?7 O UST v o






D T3EXIZDNT

AEBRmOUIGERICOUNT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICIEIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o 5o Eo

PR

O
)

B O

XEREREEXIHRRRBE LT, FRICREA
DHR—LTL—FIRRTLTLET,

2. o =], [ ]z BFoztakLT
BYET,
[— ] v ame, fAAENTODEEN
BB 2 1 L0 H7p 20
[ 7 v A fhicE Eh 2 e &
TS L2V ED S,

3. RHE SR EIE2 > T 5 b o, mHEE
i EIEV IR Y ET O T, 20O
B AR STV S s E T

4. fAE SO EICE, LD -y NRFEDO R
DELLNH Y £9, ZHLOBRIT TR EE
VW, EleEbimE bSOV
NRGED I D X I & S/ TV & £,

KELAIT S R EIC LY PERSIBIR - MEE2 AR
FTHZLERBHD ET,

FIET ST G AEMIE R A2 B B VKD < 2 &0,
MHBELLS 2 BEVICR D £9 & RO
PEREICHET DL AR 0 £7,

Z OB OFHERER O G ER ) X, ®
Ef UV H%9OETT, =720, HEERANTH-
Th, BRSSO W TR &% TR ST
WlE<GEe D0 £,

FHAEED b O AEREFIR B 1 F ERL OIS E R TR
TLETH, HEFERRIEEZ THoTH, it
KD ZHEEEN B o e A IR X Ol 12>
TR SETWEREEET,

REEIZDULNT

PEHE D UGBTI DFR &£ 720 £4 DT, 1T
TES W,

gOdE L7255 B Pl B SR~ S 72 IE LUME
MBI E B2 D5 81E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



SWM1610

TL—L4(1)

-~

SvEVITIY

AHER| W M’ B il W A i % fii
1 | 1373630004 AL 7L —ACP 1
2 10714891000 Foyak—ACP ;540 1
3 0836421000 ¥o2Uak—ACP ;875 1
4 | EWK869932 SFYX¥J5;4x%x1,/8 4
5 | ONBS1 JY)—Z2=v7NV B PT1,/8 2
6 | 1376000004 Ko —/RCP 1
7 |BZ16120 ALE 8. 8 M16X120 2
8 | WSAl6 NEXYPHX 337 M16 2
9 [NZ16 Fvhk 8 2v= MI16 2
10 | 064021100M Ty 2
11 | 134946000M R—APAR—KCP 1
12 |BSZ10035 aFHRNLE 7 M10X35 2
13 | WSA10 NREYPHx 337 M10 2
14 [NSZ10 a4y 8 2= M10 2
15 | 0667641004 t oy F 2
16 | BZ20080 AR 8.8 M20X80 2
17 | WSA20 NEXYPHx 337 M20 2
18 | NZ20 Fvh 8 2v2 M20 2
19 | 1376061004 V> /r—Y Re—/CP 1
20 | 066805000M EYyFELCP 1
21 | WRA30 7R M30 2
22 | 000739000M JoFrEy; 9 1
23 | 1376551004 AHRCP ; L 1
24 | 1376581004 AHRCP ; R 1
25 | 077934200M =% 2




SWM1610 SvEVI<L v

TJL—LAL(1)

AHES| B oM & B il i A i [EES fii
26 | 000738000M JoFEL ;6 2
27 | €Z050005 Vo Fz—r ¥Yay 5X27. 5PX5 | 1
28 | SSC0620 YxYw s 6—1,/4 2
29 | 1376530004 77 ANLC P 1
30 |BZ16035 ALE 8.8 M16X35 4
31 | WSAL6 NxYPHx 337 M1 6 4
32 |NZ16 Fvh 8 232 MI16 4
33 1094610000 ZAL¥YAS ;5. 00—9—8PR 2
34 | 0579400000 4% ;5. 00—9—8PR 2
35 | 1070520000 Fa2—7 ;5. 00—9 2
36 | 109446ASY AA— ;3. 50DX9DT 2
37 | BZ12025 ALhF 8.8 M12X25 12
38 |NZ12 Fvk 8 2v=2 M12 12
39 | WSA12 NEXYPHF 337 M1 2 12
40 0004075004 |7 A6 2X 80 2
41 | J30208 T—Rg—7_71J)7 30208 2
42 | J30206 T—Rug—7_71J)7 30206 2
43 | 000501000M VNI vy ; 40X80 2
44 | WRA24 IR M2 4 2
45 | 000712000M Xy v ALFyh;M24X1. 5 2
46 | PC040032 JUYEY 4X32 2
47 | 000415000M Xy 62 2
48 1000420000 |ANLF;M12X1. 5X50 12
49 | NZ12150 Fvh 8 232 M12X1. 50 12
50 | WSA12 NEYPHX 337 M1 2 24
51 |ONBS1 JY)—R=v7 %V B PT1,/8 2
52 DAZ*—2L7 L=}k 1
53 | 1385460000 TV v T~—2 250 1
54 | 1579820000 TGV XA I UXTY6 80 1




SWM1610 SvEVI<L v
2L—L4(2)

AHER| W o’ B il i 4 i % fii
1 | 1520690003 TIr v FCP TRy 1
2 | BZ12100 ALK 8.8 M12X100 2
3 | WsA12 NEFH%x 337 M1 2 2
4 |NZ12 Fvh 8 2va2 M12 2
5 | 042783600M Ty ;12 2
6 | 1570721003 H—RKAZ 2 RCP 1
7 1026970100M Tyl ;14 2
8 | WSAl4 NREPHR 337 M14 2
9 | B714030 ALE 8.8 M14X30 2
10 |1379030004 |7V HA—CP 1
11 | BSZ08020 aFHEARNLE 7T M8X20 4
12 | WSA08 NEPEHx 337 MS 4
13 | WRAOS E 7R M8 4
14 |NSZ08 a4 Fy k8 232 MS8 2
15 | 8039750003 777 hCP ;U 1
16 | BSZ08025 afFHRLVE 7T M8X25 2
17 | WSAO8 NExYPHx 337 MS 2
18 | NSZ08 afXZFvyhk 8 232 MS 2
19 | 1568250003 TR HNRN—=CP 1
20 | 0006900000 =¥ ;M8X14 4
21 | WCR1HO8 PINREXPFAR 1v=2vay MS 4
22 | 1379080004 H—RAF—CP 1
23 | CAP034032 ¥yvsS 34. 0X3. 2 1
24 | 069868000M | TF XL ;12 1
25 | 1181490000 =X ;M8 1




SWM1610 SvEVI<L v

JL—LAL(2)

AHES| B oM F B il w4 PR [EES fii
26 | NBHO8 Z77wvtyh 34X M8 3
27 | 1379110004 |34 7 1
28 | BSZ08040 afHERNLE T M8X40 2
29 | NNFO8 75V FAmrrFt vk M8 2
30 | 1399860004 H—KCP 1
31 | 1399890004 F ¥ LRI 1
32 | 055032000M | HZ XA/ 8. 8 M8X15 3
33 | 055474000M | HZ XA/ E 8. 8 M8X20 4
34 | NSZ08 affEZFyh 8 232 MS 7
35 | WSAO8 NRExYPHx 337 MS 10
36 | WRAOS v 7R M8 6
37 | 0006880000 =XV ;20 6
38 0009630000 |KHTL; W—50100SQS 2
39 10433691000 |tvFrFavATL—h 1
40 | 1385460000 FYL b TIw—27 250 2
41 | 1385470000 FYL; I —27500 2
42 11061641000 SV AL a1 1
43 | 1064640000 SV AL a3y 50 1
44 | 1064650000 T rA4 a7 51 1
45 | 1065410000 T rAay 127 1
46 | 1065900000 TYv s A4 ay 176 1
47 | 1386420000 TV Favkf 1 1
48 | KMSO11 T7FravFXyy 7 11 2
49 | 1399880004 7Z 7 b 1
50 | 059483000M | HZ FA/L K 8. 8 M8 X25 3
51 |8039780003 7727 RCP; L 1
52 | 8039790003 727> FCP ;R 1
53 | 8039800003 ZFL— |k 1
54 | BSZ08070 a2 RLE 7T M8XTO0 2
55 | WSA08 NEHPHF 337 MS 6
56 | WRAOS 7Y% r MS 4
57 | BSZ08025 SFEZRLE 7T M8X25 4




SWM1610 SvEVI<L v
T—7I)L(1)

25 26 3738

&)

2
3
24
f:ﬁ”
63 "5129525
47
48
44-§
065-0047-1003 43
AHER| W o’ B il i 4 i % T =
1 | 1374541003 F—7NLCP:F 1
2 | BZ16050 ALK 8.8 M16X50 4
3 |BZ16040 ALK 8.8 M16X40 2
4 | WsAl6 NEXPHx 337 M16 6
5 | 1427340003 F—71LCP;RE 1
6 | 137617000M FCP;25%Xx113 1
7 1137922000 | EIH—FL— ;1 1
8 |NSz10 affiZFy b 8 22 M1O0 1
9 [WSAL0 NREPHR 337 M10 1
10 | 044098500M Jo¥¥ ;10 1
11 | 137620000M EUCP ;F25X115 1
12 |NNF10 75V FAfuarFy b M10 2
13 | WRA10 EZH AR M10 2
14 | ONB6 JJ)—A=v 7] B M6 2
15 | 1374391004 n—7CP; F 1
16 | 1376490004 AV 2
17 | JCS207LLU 2=y hma 7YY CS207LLU 2
18 | DCO35 CHH¥ AU Y7 35 2
19 | BZ14040 ALk 8. 8 M14X40 4
20 | WSA14 NEPFHx 3327 M1 4 4
21 | 1424650004 n—7CP; RE 1
22 | 1376490004 A A 2
23 | JCS207LLU o=y hmaXRFTYL Y CS207LLU 2
24 | DCO35 CHZMAD Y7 35 2
25 | BZ14040 AR 8.8 M14x%X40 4

-5-




SWM1610 SvEVI<L v

FT—7I)L(1)

AHES| B oM F B il w4 PR [EES fii
26 | WSA14 NEXHFHX 337 M1 4 4
27 | 1374460004 n—JCP ;1 1
28 | JUCFL207DGB | X7 V> Z/=2=vF UCFL207DGB 2
30 | BZ14045 ALK 8.8 M14xX45 4
31 |NZ14 Fvk 8 2v=2 M14 4
32 | WSAl4 NxYPHx 337 M1 4 4
33 | 1374500004 n—JCP; 2 2
34 | JUCFL205DGB | X7V >/ =2=v h UCFL205DGB 4
36 | BZ14050 ALk 8.8 M14X50 8
37 |NZ14 JFvhk 8 2v=2 M14 8
38 [ WsAl4 NEXHFHX 337 M1 4 8
39 | 1424730000 |~k ;225%X3300 4
40 | 1424690004 HA RCP ; F 1
41 | RBT10020 ARZB 10. 9 M10xX20 5
42 | WSA10 NREYPHx 337 M1 O 5
43 | 137622000M FYaa—vy 7 RCP 2
44 | BZ12040 RALR 8.8 M12X40 4
45 | NZ12 Fvk 8 2v=2 MI12 4
46 | WSA12 NEYPHx 3387 M1 2 4
47 | 1245120000 A ae—LCP 2
48 | 125519000M Jvv 330, 5X4. 5 2
49 | BZ12020 ALh 8. 8 M12x%X20 2
50 | WSA12 NEYPHF 337 M1 2 2
51 | 085137000M Jyy 3 13X3. 2 2
52 | 119493000M ELCP;F25X70 1
53 | BSZ10025 aFHRLVE 7T M10O0X25 1
54 [ WSA10 NEXPFHX 337 M1O 1
55 | 060807100M Ty 1
56 | PS080040 ZAFY LTy 8X 40 1
57 1339070000 STAR~Y—Z7 5~ ; 40 (¥ rARLYXx) 1
58 | 1339780000 STAR~Y—7 7L ; 40 1
59 |0003300000 |Hr BTN L— | 2
60 | 0009360000 | HTZL; Y—-50100SQS 2
61 | 1064980000 T (a7 84 1
62 1386430000 TN Favkf 2 1
63 | 1065900000 T (a7 176 1
64 | 142472000 | L — |k 1
65 | BSZ10035 afHZRNLE 7T M10X35 4
66 | NSZ10 afAZFyh 8 2¥=2 M10 4
67 |WSA10 NEPFHFX 3327 M1O0 4
68 | 142739000 | A KCP ; L 1
69 | 142742000 | HA FCP ; R 1
70 | 140948000 | UARML bk ; 65C 2
71 |NZ12 JFvhk 8 2v=2 MI12 8




SWM1610 SvEVI<L v
T—IL(2)

/ 54

AHER| W M’ B il Hi 4 i) % T =
1 | 137634000M 27w~ h; 50X38T 1
2 | DCo40 CHELNADY 27 40 1
3 |1440770006 aAF7VE—H ;MP 250 1
4 | KFB08070270 |«~A 22— I X~ 8XTX27 1
5 | BZ12055 ALE 8. 8 M12X55 2
6 |Nz12 Joh 8 2v=2 M12 2
7 | WSA12 NEAYPHH 337 M1 2 2
8 | 137644000M AR —H 1
9 |BJ08025 $I7F¥y vy 7B 10. 9 M8X25 1
10 | 137646000M H7—;25. 5X10. 5 1
11 | 132816000M AZaryh;50X12T 1 | (50em 7 ¢ /L2 H)
12 11376280003 AZwvlsrvh; 50X13T 1| (B0cm 74V AR (B )
13 | 1376300004 A7y h; 50X15T 1| (Toem 7V« (B i)
14 | 137645000M T — 1
15 | 056984000M 70w 1
16 | 137638000M T ary7T—ALCP ;1 1
17 | 081267000M Foiaru—5CP 1
18 | DCOL7 CHHE AU YU 17 1
19 | BZ14040 ALk 8. 8 M14X40 2
20 |NZ14 Fvh 8 2v2 M14 2
21 | WSAl4 NxYPHx 337 M1 4 2
22 | WRA14 TR M1 4 2
23 | 1376350004 ARACP 1
24 | 1376310004 ¥ 7 hCP 1
25 | 137648000M HT—;55. 9xX14 1




SWM1610 SvEVI<L v

7_-_

JIL(2)

/ 54

AHER| W oM’ B il i 4 i [EE fii =

26 | J6007LLU R—=NA_T7YV 7 6007LLU 2

27 | DHCO62 CHEZNATY T7F 62 1

28 | BZ12040 ALK 8.8 M12X40 3

29 | WSAL2 NEZPFH%X 337 M1 2 3

30 |137647000M |7 —; 35. 5X12 1

31 | 137627000 | A7 w4 v k; 50X25T 1 | (50em 17 4 V)
32 | 1376290003 A7walybh; 50Xx23T 1| (60cmTZ4 /WM RS
33 | 0570720004 |AFwAZ v bF:RS50X21T 1| (TemM7 VAR R
34 | 076487000M | AL — k 1

35 | 056984000M NV 1

36 | LA50063B g—JFx—2 50X63L F73IVXTF1| 1

37 | LA50077 H—5Fx—2 50X77L 1

38 | 137641000M |FT > a7 —ALCP; 2 1

39 |081267000M |T >3 arm—FCP 1

40 | DCOL7 CHEZNAD Y7 17 1

41 | BZ12040 RLR 8.8 M12xX40 1

42 |NZ12 Fvk 8 2va2 M12 1

43 | WSA12 NEXYPHx 337 M1 2 1

44 | WRA12 AR M1 2 1

45 | NZ14 Fvh 8 2v2 M14 1

46 | WSAl4 NxYPHx 337 M1 4 1

47 | 072968100M Ty 14 1

48 | 1393550003 HNX—CP ;1 1

49 | 0006900000 =¥U ;M8X14 2

50 | WCR1HO8 YINREZYFATR 122y MS 2

-8-




SWM1610 SvEVI<L v
T—IL(2)

/ 54

065-0047-1004

RHES ) B dn F 5 T R < I ) %% i} %

57 | 044097200M Yvivx; 8

58 | 0940930000 ANy T~w—7

51 | 1378151003 HNX—CP ;2 1
52 | BSPZ08016 IAHXSWYFARALE 7 M8X16 3
53 | 044097200M Ty ¥ ; 8 3
54 | 137906100M | #/3— 1
55 | RBT08016 RZB 10. 9 M8X16 4
56 | WSAOS NEXYFEH X 33T MS 4
4
1
1

59 | 1339780000 STAR~—77~1; 40

60 | 096757000M ;25,0 5X0. 6




SWM1610 SvEVI<L v

NATUITL—L

AHER| W M’ B il i A i A% fii
1 10931130000 |®BrHART VT 1
2 | BX10035 AR 10. 9 M10X35 12
3 | WSALO NEFH% 3327 M1O 12
4 11440740006 |7 YVE—X :MP 100 1| R2ift
5 | BH12040 ¥y 7B 10. 9 M12xXx40 2
6 | WSAL2 NEXYEH X 337 M1 2 2
7 | 1376260002 E=%4>:13 1
8 | 134619000M Uy ¥%;25. 5X1. 0 2
9 10907800000 Ty ;8. 5X3. 2 1
10 | BSZ08020 affERLE T M8X20 1
11 | WSA08 NRRPHF 347 MS 1

l12‘ 1379831003 AT 7L —ALCP 1
13 | BX10030 ALE 10. 9 M10X30 12
14 |WSA10 NREYPHF 337 M1O 12

[ 15 1379780003 |75 %4 v FCP 1
16 | CAP060538 ¥y 60. 5X3. 8 1
17 | BZ16040 AR 8.8 M16x%X40 3
18 | WSAL16 NxYPHx 337 M1 6 3
19 |NZ16 Fvh 8 232 MI16 2
20 | 1385460000 TV, b T~v—27250 2
21 | KFC08070320 |[~A 2% — Uz~ 8X7X32 1

-10 -




SWM1610 SwvEYIII Y
AMLYFIL—LA

AHER| W M’ B il W A i % T
1 | 1379500004 75479 hCP; AL yF 1
2 | ONB6 J)—=2A=v7/L B M6 1
3 | BZ12070 ALE 8.8 M12X70 3
4 | WSA12 NEXPFHEX 337 M1 2 3
5 |NZ12 Fvh 8 2v2 M12 3
6 | 137928000M RILECP 3 7 4L 1
7 | BZ12100 ALE 8. 8 M12X100 1
8 |WRAI2 EZFHTR M1 2 1
9 |[NNF12 75 0FAnrF vy M1 2 1
10 | 083273100M | /3 — 1
11 | 078897100M ATY T 1
12 | WRAOS EI T M8 1
13 | NSPO8 afBZATY) Ty~ 4 MS 1
14 | 1285370000 =X ;M8 1
15 | 137933100M RIVECP 1
16 | 000462200M ECP ;10 1
17 1379321000 n—>;:¢$34. 5 1
18 | BSZ08045 afHERNVE 7T M8X45 1
19 | NNFO8 7oV A4marFy b M8 1
20 | 137936000M N 1
21 | DC025 CHHA AU ¥/ 25 1
22 | 060807100M Ty 3
23 | 1323741000 n—>;¢25. 5 1
24 | 058711100M ASV T TV a s _H 1
25 | 119848000M 7T—ALCP ;7415750 (A) 1

-11 -




SWM1610 SwvEYIII Y
AMLYFIL—LA

AHER| W oM F B il Hi 4 i) % T
26 | 080414100M Tvi¥ ;8 1
27 | NNFOS8 777 A4nrF vy M8 1
28 | 0333782000 7V w7 1
29 | NSPO8 SHBEATV Ty N 4 M8 2
30 [ 069868000M | T/LAE L ;12 1
31 | 1203530000 S UL T 4V A 1
32 | ONA6 J)—ZA=v7)L A M6 1

-12-




SWM1610 SwvEYIII Y
ALyFA—7

AHER| W M’ B il W A i % fii
1 |1379380004 |ARLyF7L—ALCP; 75 1
2 | 137960000M |HT—; 26. 2X24. 5 1
3 | 117375000 | HTF— ;26 X20 1
4 | PS050036 ATV 5X36 1
5 | 1379460000 ZRLwvFa—5CP ;790 2
6 | JPFL203G NAZ75Y v PFL20S3 8
7 | JCS203LLU o=y ka7 CS203LLU 4
8 | WRAO6 EZF TR M6 8
9 [ BZ06020 ALE 8. 8 M6X20 8
10 | Wso06 NRREPEHR 237 M6 8
11 | NZ06 Fvk 8 232 M6 8
12 | WRA12 EZHTR M1 2 2
13 | WSA12 NREYFHx 337 M1 2 4
14 [NZ12 Fvk 8 2v2 M12 4
15 | 117392000 |#F—;17. 5X4 2
16 | WRA12 AR M1 2 2
17 | 1379580002 XY ;M3Xx28T 1
18 | 1379590002 ¥ ;M3Xx18T 1
19 | KFD05050150 |~A 2%~ UYUzaybks 5X5X15 2
20 | 137957000M | L — k 1
21 | WSA10 NEPFH%X 3327 M1O0 2
22 | BSZ10020 afHERLE 7T M10X20 2
23 |120339000M | AF V2 Z ;H3. 5X20X160 1
24 | BXI08035 ALk 10. 9 ¥ M8X35 1
25 | 044097200M Jviv ;8 2

-13-




SWM1610 SwvEYIII Y
ALyFA—7

AHER| W oM F B Woom 4 i % fii
26 | NSZ08 aBxFvh 8 232 MS 2
27 | WSA08 NREYPH+x 377 MS 1
28 | 1379610004 | BR—CP ; AL vF 1
29 | 080414100M 7wy 8 4
30 | 044097200M Jyix ;8 2
31 | NNFO8 7o VA uarFy b M8 2
32 | 1385470000 ISR h5~v—2500 1

-14 -




SWM1610 S vEYIII Y
T4 ILLFRILE

AHER| W M’ B il Hi 4 i) A% T
1 | 1375431003 770 KCP 1
2 | BZ14080 AR 8.8 M14X80 3
3 | 087225100M Ty ;14 3
4 | 1375660003 Ty THRNVE—CP ; UP 1
5 | 1375770003 Z7 v THRNVE—CP ; Lo 1
6 | 1375840003 2y RCP 1
7 | ONAG J)—ZA=v7)L A M6 4
8 | 137598000M EYCP; F25X75 2
9 | 119437000M FYCP;F25X116 2
10 | WRA24 IR M2 4 4
11 | 083995000M Uiy ;17X4. 5 4
12 |NN16 JA4uaFvh M16 4
13 | 137585200M | 2%4 7 1
14 | 137586000M T — 1
15 | CAP027228 Fyvs 27. 2X2. 8 1
16 | PS050040 AFY T 5X40 1
17 | 137595000M F ¥ RxCP 1
18 | 040588101M ATV T 3
19 |NNF10 77004y b M10O 3
20 | 137588000M 777 v b 1
21 | 044097200M Tyviy ;8 2
22 | WSAO8 NEXFHX 33T MS 2
23 | BSZ08035 afXRNLE 7 M8X35 2
24 | 137587000M FA 7 1
25 | WRAOS v 7R MS 2

-15-




SWM1610 S vEYIII Y
T4 ILLFRILE

AHER| W oM F B il W A i % fii
26 | WSAO8 NREYPHx 347 MS 2
27 | BSZ08016 aBERLE 7 M8X16 2
28 | 119442000M EYCP;F16x%Xx35 1
29 | WSA10 NEXPFHx 3327 M1O0 1
30 | BSZ10020 aHFHZRLE 7T M10X20 1
31 | WRA20 7R M2 0 1
32 | PC040032 JYUEY 4X32 1
33 | BXI14060 AR 10. 9 ¥ M14X60 1
34 [NZ14 Fvhk 8 2v= Ml14 1
35 0433691000 |t uFrFavATL— ] 1
36 | WSAl4 NRERPHF 327 M1 4 3

-16 -




-~

SWM1610 S vEVIITL Y
Ay
|

060-0047-1009

AHER| W M’ B il w4 i) % T
1 |042322200M Ty ;16 2
2 | 042783600M Uiy ;12 1
3 | WsA12 NEFHF 337 M1 2 1
4 | NzZ12 Jvhk 8 232 M12 1
5 | 065482200M Ty 12 2
6 | WCRIL12 YPINRNFX TR 124 M12 -
7 1 042783600M Tyiv ;12 1
8 |NNF12 75 0F Aty b M1 2 1
9 | 1379640004 7% v hCP 1
10 | KBF-2525B =R RT7A4B 7909V F% B 25X25 2
11 | 042322200M Uvyi ¥ ;16 1
12 | WSA16 NEYPHT+x 337 M16 1
13 |NZ16 vk 8 2v2 M16 1
14 | 137976000M FL;25%X95 1
15 | 060807100M Ty 2
16 | PS050040 ATV T 5X40 2
17 | 1379691004 777 hCP ;mBvY 1 | R18fF
18 | 1384140000 TILTL— |k 1
19 | 137977000M 'y 25%X120 1
20 |KBB-2515B H—R RTAXRTY T B 25X28X15 | 2
21 | 060807100M Ty 2
22 | PS050040 2FY T 5X40 2
23 | BZ06045 ALk 8. 8 M6X45 1
24 | NNF06 750 FAurFy b M6 1
25 | 137975000M 7T 1

-17 -




SWM1610 SvEVI<L v

Ay
|

0609-0047-1009

AHER| W oM F B il W A i % fii =
26 | BJ10035 #FFxy> 7B 10. 9 M10X35 2
27 | WRALO EZH T M10 2
28 | 044098500M Tvyrv; 10 2
29 | WSA10 NEXPFHx 3327 M1O0 2
30 |NSZ10 affAZFyhk 8 2¥=2 M10 2
31 | BSZ08035 affHZRLVE 7T M8X35 1
32 | WSA08 NEAHPHH 337 MS 1
33 | NSZ08 afZFy b 8 22 MS8 1
34 | 077412000M AT H 1

-18 -




SWMI610 SvEVSITLY
7Y

AHER| W M’ B il w4 i % T

1 | 1385855000 arheg—/LRyZACP 1

2 | 1385860000 a—F; 7Ky 1

3 | 1385870000 I—F;kUY 1

4 | 1570380000 AT D FA1 1

5 | 1385880000 T Faya—R 1

6 | 1345450000 a—FR:5000 1| RL73fF
7 1105960000 |BEKUTEEA A ~F 1

8 |1105931000 |#Egia— R o #— 1

9 |137917000M |®BYH—T7F v FCP ;1 1

10 | 137926000M T T 1

11 | CP03016 +F_Raxy M3X16 2

12 | WRAO3 EIH A M3 2

13 | Wso03 NEYPHx 297 M3 2

14 | CP03025 +F_Raxry M3XxX25 2

15 | WRAO3 v 7P HR M3 2

16 | Ws03 NREHPHx 297 M3 2

17 | NAO3 Fvh 4 232 M3 2

18 | BSZ08035 afHRNLVE 7T M8X35 2

19 | WSA08 NxYPHx 337 MS 2

20 |NSZ08 affHZFyh 8 2va MS 2

21 | 044097200M Tyiy ;8 2

22 | 1386820000 XYV RAL VT 1

23 1379200000 |®rH—TFTFH7 v FCP; 2 1

24 | 138003000M Ty 1

25 | 1385900000 TR T T 1 | =— R2mft

-19-




SWM1610 SvEVI<L v

T

AHES| B M F B B m 4 i) [EES fii =
26 | BSZ08020 afHRNVE T M8X20 2
27 | WSAO08 NRAYPH+% 337 MS 2
28 | 044097200M Tyl 8 2
29 | BJ10040 HI7F¥y vy 7B 10. 9 M10X40 1
30 | WSAL0 NEYPHF 337 M1O0 1
31 |NSZ10 afXZFvyhk 8 2¥=2 M10 1
32 | WRAL0 E AR M10 -
33 | SHL-W2155 Uy hAA vF 12— ML
34 | 137925000 |ELUH—FL—F ;2 1
35 | CP04030 +FRaxyY M4 X330 2
36 | WRAO4 v 7R M4 2
37 | NPO4 ATV Ty b M4 2
38 | BZ06012 ALk 8. 8 M6X12 2
39 | WS06 NEPFHEX 227 M6 2
40 | WRAO6 eIV AR M6 2
41 | 1122090100 B Rt 1
42 137923000 |®r Y —7FTFH7 v FCP; 3 1
43 | 1385890000 T Faya—FR 1
44 | 146294000M LX—CP 1
45 | 119544000M oy KCP; 60 1
46 | 1119720004 g IN— 1
47 | 0774093000 Ty va 2
48 | CP04016 +FRaRxY M4X16 2
49 | WRAO4 v IV HR M4 2
50 | NP04 ATV TFy N M4 2
53 | WRA16 eI M1 6 3
54 |DE012 EFZ AU 12 1
55 | WRAOS e M8 1
56 | PC032016 JUEY 3. 2X16 1
57 | NSZ08 afjFZFvh 8 232 MS 1
58 | 079424000M T4 —J = K; 8X32 1
59 | 079425000M Er; 8X32 1
60 |[BSZ10035 aBFHFRNLE 7 M10X35 2
61 | WSALO NEAPHF 337 M1O 2
62 | NSZ10 afHZFyh 8 2¥=2 M1O 2
63 | BSPZ08016 SHZSWYFARLE 7 M8X16 1
64 |ILT150 A any7H A 3. 5X152 -
65 | ILT380 Aanmy XA 7. 5X382 -
66 | 1385910000 SYL s F oA 1
67 | 1301790000 Fvay Iy 1 | f# FHEEH CR2032 (3V)
68 | 1105960010 ¥k —;GLS—S1 1
69 | 0937330000 ot a v xy b 1
70 | 1391930000 VA B OED, 1
71 | 1385813000 SVay; Varx 1
72 | 0887210000 AR TNF 2 —T 1
73 | FU30 t=—ZA;30A 1

-20-




SWM1610 SvEVI<L v
aryy

065-0047-1011

24 0

&
& - S
D@OEDQ@R 19
333435363534

AHER| W M’ B il Hi 4 i) % T
1 | CLF40M HF T FA PT1,/2 2
2 10007781000 ANTZ7F% %7, 1,/2 2
3 |2083-08-06 =y 7N PT1/2XPT3/8 1
4 | 106900000M T PF1,/2XPT3,/8 2
5 | 1369190000 Tu4NE 3 1,/2—60pu 1
6 | KHO602000AP |7 Y/AhR—A 3,/8xXx2000 1—4 1
7 |KHO802000AP | =7 Y&h—A 1,/2X2000 1—4 1
8 |1033-06-08 AR—AxT)HR PF3/8XPT1,/2 1
9 |1033-08 AR—AxT)R PF1,/2XPT1,/2 1
10 | 116832000M Fow I VT 1,2 1
11 |2083-08 =v 7] PT1,/2 1
12 {117267000M TV PF1,/2XPT1,/2 2
13 | 1512400000 FUN 4E 1
14 | BHO5080 Fyvy 7B 10. 9 M5XS80 2
15 | NAO5 Fvh 4 232 M5 2
16 | WS05 NEPHFR 237 M5 2
17 | BSZ08020 afHZRLE 7T M8X20 2
18 | WSA08 NREYPHF 337 MS 2
19 | 105166000M T PF3,/8XPT3,/8 HAry ME| 2
20 | 102551000M TV PF3,/8XPT1,/4 6
21 |KHO600630DP | =7 YH&—A 3,/8X630 S901—4 1
22 18039810000 TIAFTVT 4T HE 1
25 | 4043-10-06 UNF7vyyv>»”7 UNF7,/8—14XPT3,/8| 3
26 |1033-06 AR—Ax)R PF3,/8XPT3,/8 2

-21 -




SWM1610 SvEVI<L v

ayyy
AHES| B M F B B H 4 i) [EES fii
27 |KHO602600FP |7 Yih—A 3,/8X2600 S451—4 | 1
28 | 2083-06 =v7) PT3,/8 1
29 [2091-06 74— PT3,/8 1
30 | KHO600500DP |=7 YA —% 3,/8X500 S901—4 1
31 |1033-06-08 AR—AxR PF3,/8XPT1,/2 1
32 | 2091-08 T4— PT1,/2 1
33 |2081-08-06 Ty PT1,/2XPT3,/8 1
34 | 106790000M =7V, PT3,/8XPF3,/8 2
35 |1003441000 HAT > by 17 4
36 | 124511000M Frxy L7 3,/8 1
37 |2088-06 AAF AR PT3,/8 1
38 | 106900000M 7w/ PF1,/2XPT3,/8 4
39 | 1035-06 R—AxT)R45 PF3,/8XPT3,/8 1
40 |KHO601300DP |=7YiH—A 3,/8X1300 S901—4 | 1
41 |KHO603300DP |=7YiH—A 3,/8X3300 S901—4 | 1
42 | 1013-06-08 AR—A=v 7V PF3,/8XPT1,/2 1
43 | 1033-04-06 AR—Ax)R PF1,/4XPT3,/8 1
44 | KHO402700EP | =7 YidHE—A 1,/4X2700 S902—4 | 1
45 | KHO403900FP | =7 YidHR—A 1,/4X3900 S451—4 | 1
46 | KH0403900DP |7 YiHR—A 1,/4X3900 S901—4 | 1
47 | 2088-04 ARAF AR PF1,/4 1
48 | 112531000M 2a—YX—= LT 1,/4 1
49 | 2086-04 T)LR PT1,/4 1
50 | 1373620106 UL HA CWP60X115X345 1
51 | 1035-04 AR—=RT)NAR45 PF1,/4XPT1,/4 2
52 | KHO405200FP |z 7Y AHR—A 1,/4X5200 S451—4 | 1
53 | KH0405200DP | =7 Y7h—A 1,/4X5200 S901—4 | 1
54 | 1033-04 A—2xT)LR PF1/4XPT1,/4 2
55 | 1193510106 TYH CWP30X90X230 1
56 | 112156000M RISV 1,4 1
57 | 2083-04 =7/ PT1,/4 1
58 |KHO0401900FP =7 Y& —A 1,/4X1900 S451—4| 1
59 |KH0401900DP |7 Y&H—*% 1,/4X1900 S901—4 | 1
60 |1033-04 AR—RAxTNAR PF1,/4XPT1,/4 2
61 |1173401106 U CWP30X50X275 1
62 | 098624000M F ¥ I 8
63 098530000 | F ¥ > r/L 8
64 |138004000M |F ¥ R/L 2
65 | BSZ08040 SHHRNLE 7T M8X40 6
66 | BSPZ08020 aHFXSWYFAR/LE 7 M8X20 12
67 | NNFOS8 77 FAvnrFy b M8 6
68 | 044097200M Jvix ;8 18
69 | 0749681000 ZNRAL I F2—7 ;500 -
70 | ILT380 Afany XA 7. 5X382 -
71 | ILT200 Aanv B 4. TX202 -

-22-










nj
TH]

g

S—220311U

F & A t 0668555 F @ m L K #B 1 0 6 1 F #1 2
TEL 0123-26-1123
FAX 0123-26-2412

F i E XA 06685 FHmmLEE®H1 06 1 F h 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIBEAMEEMF LHORY 119 1FM4 4
TEL 0162-82-1932
FAX 0162-82-1696

LB EPT 0802462 W LA 2 2%4d1TH1 2 &t 4
TEL 0155-37-3080
FAX 0155-37-5187

hiEEEER 086-1152 Z 2 M ZZHILET 2 TH16F2
TEL 0153-72-2624
FAX 0153-73-2540

FREEETAEAMTILFMRET 1#1EI120F3
TEL 0198-46-1311
FAX 0198-45-5999

MRWEMEMRTHFSTHEH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

Il E X P 3230158 #F K B /N W th 2 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA E X 4850081 BHR /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

= ¥ P 700-0973 MWERBMLUAIERTHFE704—103
TEL 086-243-1147
FAX 086-243-1269

e A& & ZEPFr 8618030 REAEBEAMEBER/ILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

W E E T 8851202 BB EMEB T ESHEEEL 1003 -2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ Fr 028-3172

i3

it
m

W& & % Fr 984-0032

Y. 04.04.1s &





